Самостійна робота № 4 з теми «Властивості множення натуральних чисел»
Варіант 1
1. Обчисліть: а) 254 · 35;      б) 64 · 3852.
2. Обчисліть, обираючи зручний порядок дій:					
а) 4 · 256 · 25;		б) 4 · 680 · 25;		              в) 8 · 100 · 5;	
г) 34 · 7 + 34 · 93;	д) 93 · 25 + 107 · 25;	              е) 254 · 125 + 254 · 875
3. Спростіть вираз:									
а) 19p + 21p;		б) 41k  + 23k + k;		
в) 29x + 14x – 10x;        г) (2a + 5c) · 2 + 4 · (3c - a).
Варіант 2
1. Обчисліть:  а) 24 · 3605;      б) 624 · 38.
2. Обчисліть, обираючи зручний порядок дій:				
а) 125 · 17 · 8;		б) 500 · 129 · 2;		в) 40 · 32 · 25;	
г) 73 · 15 – 15 · 71;	д) 125 · 423 + 125 · 377;	е) 441· 16 + 559 · 16.
3. Спростіть вираз:									
а) 13х + 2х;                б) 15у + 24у – 9у;	 
в) 72b – 8b – b;          г) (b + 3a) · 4 + 2 · (3b – 3a).
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